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A thick glass plate bebaves like

1. The least count of Vernier — 5.
Ca]jPCP is N a

e irror

(A)/0-01 cm G‘n / (A) convex mirT
irTO0
(B) 0-01 mm (B) goncave mirt

(C) 01 = convex lens
== (D) plane mirror

6. are used inefaPY -
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(A) kgms™ =
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3. Altimeter is an equipment us
In an aircraft to measure its =

Il|
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J .m:::::ml

Il

(A) pressure
(B) velocity
altitude

11

(D) temperature

4. The global warming has resulted=—
in

i
l
JI”

¥

'Iul

(A) the increase in yield
crops

va)/thc increase in sea level

(C) the decrease in sea level

S0

|

1

(D) the decrease in human
deaths
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-(A) X-rays

wjﬂf/ y-rays, X YV
VlZ)/UV—raysz

(D) IR-rays .~
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Q.

o

-

o

e,

(A) manganin and constantan

constantan and tungsten

(C) lead and tin
(D) copper and aluminium

8. In cold countries, water is used

as heat reservoir for wine bottles
because

(A) specific heat capacity of
water is same as that of
the wine

\Wpeciﬁc heat capacity of
water is very high
(C) specific heat capacity of

water is very low

(D) specific heat capacity of
water is less than the wine
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9. _ radiations are used to_-

1

control the thickness of papers, ;=
plastic and metal sheets during-
“production. T
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(A) Beta

|

1
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) Gamma

1 O

(C) Alpha
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10. The quality of sound depends
upon

!
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(A) amplitude

Ki

)

(B) frequency =

1

vlu
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(C) wavelength

\/(D{ waveform

11. Rice grows better in soil.

\'/(A‘)/ncutral 1.5 GwA

(B) acidic P — e
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(C) alkaline
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(D) red
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12. The only non-metal which form
positive ion is

\_M)/ hydrogen Y

(B) helium /

M

i
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(C) argon

(D) oxygen
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15. Volume-temperature

“\(B) mercury and
alloy

(C) mercury and iron
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silver-iron

-tin alloy

ﬁé/y w and sﬂver-tln alloy

hydrocarbon s a

greenhouse gas-
(A) Acetylene
(B) Ethyleneé

\/(C)/ Methane

(D) Ethane

ship is given by

(A) Charles

. Wle

(C) Dalton

(D) Cavendish

relation-

\.’

16. On reaction with water, active

)'3 -55

metal produces

_(A) an acid

1
(B) a base

(C) oxygen
(D) metal oxide

HQ,O

IPTO
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17.

7. If there was no carbon dioxide in
the earth’s atmosphere, the
:)empcramre of the earth would

- _
(A) higher than the present
lower than the present
(C) the same
(D) dependent on the amount of
oxygen present in the
atmosphere

18. The maximum prescribed

concentration of copper in
injeing water is @
Q)
5 ppm A
(B) 4 ppm
(C) 3 ppm
(B2 ppm
19, When a neutral atom is

converted into a cation, its
(=
%’% (A) atomic weight increases

(B) atomic weight decreases

(C) sjze increases
(]2%:: decreases
20. Which of the following is
diamagnetic? .
2
(A) 03
BT 0;2
(C) O3
D) o,

28/AE/CME/M-2022-3/12-A

21.

22.

23.

24.
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Picasa is a free program from
that is used to organize,

edit and share the digital

photographs online.

(A) Amazorr
(B) Flipkart

( icrosoft
(D) Google

Resources are centralized
amongst the various branches of
an organization in a cloud.

(A) private
(B) public

(C) hybrid
community
mode of transmission
requires the devices to be in a

direct line of sight with each
other.

(A) Bluetooth
(B) Wi-Fi
(Qj/ Infrared

(D) Hi-Fi

is aware of the addresses
assigned to each of its ports and
sends the incoming data it

receiy€s only to the correct port.
{ Hub

(B) Switch
(C) Repeater
(D) Modem
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25. Reddit is a social networking site 29. Which type of chart is used ‘im‘f . :b).)\
which is also called a/an representing w of "'b;j
app- data? g
(A) banking (A) Bar
(B) education (B) Scatter 75%

(C) entertainment \&e)/Al'ea = »
\/(-B(news aggregator (D) Line
113 1o
6. Fil transfer protocol was 30. _has the capa\:::.lty‘ <ze
e = : db prioritise the process, nm:mzk
originally demgr}_@ ¥ the execution time and wodr
Jk]/ William Playfair . independently with no interae-
pendencies.
(B) Suril Shah
) DOS
C) Abhay Bhushan
= Y (B) MTOS
(D) Robert Elliot Kahn ) ———
27. is a logical situation where (D) MPOS
either of the two actions is to be .
performed depending upon the 31. The trident shaped symbol ©
specific condition. Buddhism does not represent
) itcise ?»? Nirvana
[=1¥A=)
B) I (B) Sangha -
M else if () Buddha —
(D) End if (D) Dhamma —

28. What does OOP mean?

(A) Object-Oriented Procedure

__{BJ Object-Oriented

Programming
(C) Object-Origin Program

(D) None of the above\

28 /AE /CME /M-2022-3/12-A

32. The largest epic of the world s
the

(A) Ramayana
(B)y Bible
(Q)_-Mahabharata
(D) Quran

| PTC
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33. i seri
Devanagari script does not have

’ dian
38. The W‘ —ndiat_

— language. federation is on

(A) Marathi — (&) strength of States
(B) Prakrit — o &A division of power
(C) Sanskrit —

(C) unity of nation
Jaf Tamil

(D) compromise with nation-

alities
o Rebs ?_ 39. Which of the following is not a
B T e TS —— function of the Reserve Bank of

JB)/G;;undnut Fry : W
(C) Mustard » fes o Ay M the fake currency

- (D) Gram ¥ A= otes

maintain the value of
3s. (B) To

Which of the following is one of _E_

36.

37.

\(B{ 21st June

\AC]/ Government of India ‘—

the two days when sun rises
exactly in the east?

(A) 14th January

ﬁ{ |(“u ‘

e
|
I

e %
m m.w;hll k
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fl
l

(C) 23rd December
(D) 21st March

| f{'l‘;nll :)‘l'

""i&.‘.

The Attorney-General of India is
the legal advisor to the

(A) President of India

(B) Prime Minister on Forc1gn
Policies

| ,,f'
{lhn m

}

\

B =

(D) Vice President of India

The saffron colour in the Indlan:—
National Flag signifies

W sniy =
sacrifice
(C) service

(D) integrity

28 /AE/CME/M-2022-3/12-A 6
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41.

rupee
(CMTO regulate the flow of credit

(D)yit has supervisory power
over other banks

According to Locke, which one of
the following is not a natural

nght?
(A) Liberty -

(B) Equality -

J;)/ﬁopcrty

(D) Life -

Which Indian city has been
included by UNESCO in its

coveted list of Creative Cities
Network?

(A) Srinagar

— (B) Kangra

o

(C), Leh
Puri
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42. World’s largest Khadi National
Flag has been installed at

(A) Srinagar
(B) Shimla

2 Leh

(D) Jammu

A

il

]
.1\"

[[HIH]
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43. Swachh Bharat Mission Urbafi =
was launched in the year '

(A) 2013
(B) 2015
(C) 2016

2014

1

f

oy
ol

1l

1

44. Which country will host 7th

U-17 Women’s FIFA World Cup
in 20227

\

(A) England

il
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45. Which bank has been declar

O/

@
5

E.

:
=
£

EASE 30 awards?
(A) Punjab National Bank

\Bf HDFC Bank —

(C) ICICI Bank -~
(D) State Bank of India

il

4
| 1I|1

|

Who became the first Indian

win a Paralympic medal
archery?

gu
[

1i

]

(A) Harvinder Singh

i

|
|

|

|||H|
|
TG

(B) Manish Narwal

'1

(C) Manoj Sarkar

\yf Nishad Kumar

|
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47. Engineer's Day on 15th

September marks the birthday
of great engineer

(A) E. Sreedharan
(B) Satish Dhawan

VLQ)/M . Visvesvaraya

(D) A. P. J. Abdul Kalam

48. Which highway bccamc. the
country’s  first EY-/f;lendly
highway? D
(A) Delhi-Jaipur
(B) Delhi-Amritsar

\_,’—/”—_h_
v&ef Delhi-Chandigarh
— -—’_"__—_‘______.____._._

(D) Delhi-Agra

49. Which city has been declared as
the first water plus city of the
country?

Vy(), Chandigarh -
(B) Indore
(C) Bhopal ~
(D) Hyderabad /,

50. has become the first

Indian State/City to become free
from rabies.
(A) Chennai -

(B) Bhubangshwar -

me@alaya .
%7 Goa .

[P.T.O.

o,

5.5
9


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

	Template for PYP PDFs - Acrobat PDF - 1st page - Black.pdf
	Blank Page



{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }



